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SUBJECT ENRICHMENT ACTIVITY - JUNE 2019
CLASS 11 (MATHEMATICS)

1. Find the value of tan (137”)

2. Describe the following set in roster form:
A= {x: x€Z x*><70}
: 3 :
3. If sinx = , then find cos 2x.

4. Show that: cos 6x = 32cos®x — 48cos*x + 18cos?x — 1
5. Find the general solution of the equation:

sin 2x — sin4x + sin 6x = 0.

sin A—sin 34+sin 54—-sin 74

6. Prove that: = cot 24
coSA—cos3A—cos5A4A+cos 74

. . X X X . 4 . .
7. Find sm;, cos;, tan;, if tanx = —3 ,where x liesin 11

quadrant.
8. Find the general solution: sinx + sin3x + sin5x =0

9. Prove that: sin’x + sin? (Z—n + x) + sin? (4—n + x) = —2sin3x
3 3 4
10.Solve the trigonometric equation: tan?6 + (1 —v3)tan6 —v3 =0

11. Find the value of cos 75°
12. Find the general solution for the following equation:

sec?2x =1 —tan2x

cos 4x+cos 3x+cos2x
13. Prove that — : - = cot3x
sin 4x+sin 3x+sin 2x

(sin 7x-+sin 5x) +(sin9x +sin 3x)
(cos 7x + c0S 5 ) + (COS 9X + COS 3X)

15. Write theset A — X : X is a twodigit natural number in
such that thesum of its digits is 8

14. Prove that =tan6Xx

roster form.
16. write down all possible subsets of each of the following sets

) {ab,c} i) {1,234}
17. Write the following set in the roster form A={x:x2 <100, xisaninteger }

18. Write the set {1 2345 6} in the set-builder form

2'3'4'5'6'7
19. Find the general solution of the equation 2cos?x + 3sinx =0
4tanx (1-tan?x)
1-6 tan?x+tan*x
21. Find the general solution of the equation: cos 3x + cosx — cos2x = 0

20. Prove that tan 4x =



22.
23.

24,
25.

26.

217.
28.

29.

30.

Find the general solution of the equation: tan®x + cot?x = 2

: . . . 1
Find the principal solutions of the equation tanx = ——

J3

Evaluate : sin 105"
x+y

Prove that (cos x + cosy)? + (sinx — siny)? = 4 cos? —
13 .. . .
If secx = = X lies in the fourth quadrant, then find the values of other five

trigonometric functions.
Show that: tan 3x tan 2x tan x = tan 3x — tan 2x — tanx
Prove that: cotx cot2x — cot2x cot3x —cot3xcotx =1

Prove that Cos(% + x]+ COS(% - x) =+/2 Cosx

Prove that : sin3x + sin3 (2—n + x) + sin3 (4—” + x) = —2 sin3x
3 3 4



